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Attempt any three (3) questions from Part A out of five (5)
and any fwo (2) questions out of three (3) in part B.
There are no internal choices.

All parts of the question attempted is compulsory.

All questions carry equal marks, i.e. 15.
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()] Montenegro is a two sector open economy : Clothing and
Services. Clothes make use of Special Designs and
Mechanized machinery for production. Service sector on
the other hand is dependent on Expertized knowledge and
Mechanized machinery. Post Global Financial crisis in late
2000s, the world economy has observed resurgence in the
service sector following which the relative price of
services was positively affected. Use suitable diagrams
to explain the impact of this incre‘ase in relative price of
services in the world market on the two sectors in
Montenegro. Will it bring any change in the income of

the factor owners ? 10
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Briefly discuss the terms of trade argument for an import
tariff, i i
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Write short notes on any rwo of the following : 8
(@) Preferential Trading Agreements
() Trade Creation and Trade Diversion

(¢) Effective rate of protection

Suppose there-are two economies Japan and South Korea

producing and consuming ‘N’ number of different goods
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with the given only one factor of production, labour. Using Barbados. on the other hand has demand and supply for -
i ’ ?

the concept of comparative advantage and unit labour {

cheese as :
requirement establish the patt :
q 1 the pattern of trade between two D* = 100 — 5P
countries. Explain how transportati t
p p 1on cost may turn some S* = 40 + 15P
traded goods into non-traded goods. 7
. (@) What is the price of cheese in the two countries in the
o = q 9 & a’ R iy feooi fafao . state of autarky ? 2
(31) orfem= antrr{ '{:mgﬂﬁ (b)) Calculate the world price and volume of trade in the
(4) =R fmtor aik =R faaed commodity if the two countries agree' to trade in it. 4
¢)  What happens to the price of cheese in Belize and volume
(9) |& & 99E & i

of trade if Belize limits its import of cheese by imposing

(i) HM et o S erederavend s agr 2faor sif
g 9 % uw fou gu s 9w 1 werar @ fafu=

a specific tariff of 2 per unit ? : 3

(d Calculate the impact of such kind of government inter-

THR H N TR F IAET q9q STHT F= @
T wnifess oy @ swE sTavgwa fag@ wt

vention on the welfare of consumers, producers, govern-

ment revenue and total welfare of Belize. 6
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S =200 + 30P :
3. Assume Belize's demand and supply for cheese is given by : Kﬂﬁ 3R arErEE § TR & m o sl .T!ﬁ % i
D = 800 — 10P : D* = 100 - 5P
S =200 + 30P : S* =40 + 15P
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()  Explain how external economies of scale act as a driving

factor for promoting trade between countries. 5

(if)  What are the major reasons for external economies of scale

to operate as per Marshall ? : 6

(iif) - Briefly explain dynamic increasing returns in an

economy. .
y 4
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()  China is alleged to practice dumping activities in the
international market. Can economists justify the acts of
dumping by China using the model of imperfect compe-
tition with trade costs 7 8

(i)  Brazilian expérience depicts productiq.n subsidy as a better
policy insu"ument than that of export subsidy to achieve
an increase in home; supply. How can you explain
this making use of terms of trade effect ? Explain in
detail. : | 7
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Part 'B'
TUg ‘a’ '
“The severity and breadth c.)f the 2007-2069 crisis have
led to initiatives to reform both national financial systerﬁs
and the international system.” In light of this argument
describe the measures taken by economies to have a more

comprehensive macroeconomic regulatory framework

especially in the banking sector. 6

Using DD-AA framework, bring out the difference in
macroeconomic equilibrium when the country experiences
a rise in its export demand in case of fixed and
floating exchange rate regimes with perfect capital
mobility. 9
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7., Givea brief account of how foreign exchange market attains its

\
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_equilibrium in the case of imperfect asset substitutability. Does

sterilized intervention by the Central Bank has any impact on

exchange rate in such a scenario ? Explain. T+8
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(D)

Describe the problem of Liquidity trap in an open economy

using modified DD-AA model. ) l 6

What are expenditure changing and expenditure
switching policies ? How does an economy come back
to its equilibrium state of internal and external balance
in case it is currently opérating at some point in Zone

111 ? Explain. SN
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